Regular Physics Chapter 3 Test    A                  Name _________________________
1.
Find the resultant of the following two displacements.   127 m  E 62o S and  176 m    W 43o S.


____________________

2. Find the horizontal and vertical component of a velocity of 327 m/s at a direction of  W 34o S


____________________

3.
Find the result velocity of  324 m/s  N 43o W, 184 m/s S 29o W and 225 m/s E 51o S.


____________________

4.
Find the resultant velocity of an airplane flying at 297 km/hr W 27o N with a wind of 59 km/hr blowing from the west.

____________________

You have a powerful speed boat that will travel at a ground speed of 47 km/hr. It will be traveling in a river with a speed 15 km/hr [East]

5.
How long will it take the boat to cross a river 37 km wide?


____________________

6.
What will be the resultant velocity of the boat if it heads upstream?


___________________

7.
What will be the resultant velocity of the boat if it heads downstream?


____________________

8.
What will be the resultant velocity of the boat if it heads directly across the stream?


____________________

9.
How long will it take the boat to cross the river if its heading is directly across the stream?


____________________
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